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The heightof the cannonballat
each timeis given by

2 t- L29.8 t'
Thehorizontal positionis given by

X(the2 t

hltl=fist

,

9)heishat to?Aws:407=175
b)Itwhat timeihits the ballThyroid?
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Translationsn into" math".
Whet's the timethat wakeshltloo?rib

4.5=atLF

t=•B
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0 =1.5.12t =z'9.8.t2*Quadratic equationWe need to solve for t
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Quadratic frank
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2 (6-4.9)
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the
-2I5.7 - 9.8= x ~_+3.7 - 9.8

= - 7.7 - 9.8
= _ w ï -

Negativex
=: 0.7~ 85 see

o)At whet distancefrom the Eunomdoes the ournonball hitThe found?
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thehoizonked position isgiven by XHF2.t
hence

'
we're looking for0X whenI"I 0.785see_ +|0.785)=

= Z|5Ymo



Determinethegraphof= 3(X-2)!+3

Explain+hetransformations involved relativetowheelbase

functiony=x2
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Y listtransformation

Y

hoteloriel impressionor
ï
vertical street|cha factor byof 3

20horizon-at translation
by

-2unitBright
soverticaltranslationby Junit's up


